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TrigonometryExercised4 for No.9124

I 2 Tan(22.5°) . o Il
I=—" "3 .2=Cos(57") Cos(127) + Sin(57") Sin(12%)
1 — Tan(22.5%)
_ 5w Tn
7 2 Tan(—36 j+ Tan(—36 j LL S 1]
— Qi R — — o T
1= Sin| T 2= Cos(15°) .3:1_2Sin(3] p &

- S5n Tr [
1- Tan(—j Tan(—j
36 36

(SRJ (llnj
3=Tan| — .4 =Cos
12

LRk NgE®s s Rpun v

Nol = 12 , No2 = (7TCJ LEJ ) ,
o T Tan| — |- Tan| —
.5 =Sec((-255)°) .6:Cot(——j 18 18 o o . o R
12 5= 7 .6 =Cos(10”) Cos(20”) — Sin(10”) Sin(20")
57 I T
7= Sin((-345)°) .8=Csc(——j “Tan( 18]“‘“(18]
L 12 /] X
T
.7:2C05(§j -1 .8 =Sin(42°) Cos(12°) — Cos(42°) Sin(12°) T
2 2
L .9=2Sin(15°) Cos(15°) .10 =Cos(22.5°) —Sin(22.5°)
[ b1 T i I 3w 3w i
[A:O,Bz—,C=—,D:n} [A:n,B:—,Cz—,D:2n}
2 2 2 2
5 . 3 , -1 4
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) == Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = 8 T2 Nod = 2 ?
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3=Tan(a) 4 =Sin(a - )
S=Cos(aa—B) .6=Tan(a+f) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Cos(2 o) .§=Tan(2 B) ]
M
No5 =[ Cond = (Cos(80°) = 0.174), Question = Cos(40°)], ,| U
T
M
No6 =[ Cond = (Cos(52°) = 0.616), Question = Sin(26°)], ,| U
T
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TrigonometryExercise4 for No.9197

2
G
P
- i 4
2 Tan(15°) o2 02 S
A=—""75 .2=Cos(22.5%) —Sin(22.5%) | s ]
[ . 7n) ] 1 — Tan(15°) ©
1= Sin(157) 2= Cos{ 75 Tan( 18°) + Tan(12°) (= n i
7 3= 5 N .4:2Sm§ Cosg
3= Tan(75%) .4:Sin[— ] I'= Tan(18") Tan(127) @
Nol = 12 ) |, No2 = P 2 > > t
197 .5=Cos(55°) Cos(10°) + Sin(55°) Sin( 10°) .6:2Cos[—j -1 h
5=Csc((-75)°) .6=Tan| - 0 12 @
2
7= Cos((-345)°) .8 = Cot(345°) | .7=1-28Sin(15") .8 =Sin(48°) Cos(12°) + Cos(48°) Sin(12°) M
Il= b (11} (= A b Tn) (= U
.9=Cos Cos| —— |- Sin Sinf — | .10=Sin| —— | Cos| =~ |—Cos| — | Sin| =
L 60 15 60 15 36 36 36 36 /] LL T 1]
)
A
b
L
b1 T 3w 3w
[A:O,B:—,C:_,D:n} [A:R,B:—,C:—,D:2n}
2 2 2 2
2 . 1 ) -1 4
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) == Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = 3 2 . Nod= 2 7
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4 =Sin(a + B) 3 =Tan(P) 4 =Sin(a - )
S=Cos(Bp—a) .6=Tan(a—B) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Cos(2B) S=Tan(2 o) J L .7=Cos(2B) S=Tan(2 o) ]
M
No5 = [ Cond = (Cos(68°) = 0.375), Question = Sin(34°)], ,| U
T
M
No6 =[ Cond = (Cos(36°) = 0.809), Question = Cos(18°)], ,| U
T
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TrigonometryExercise4 for No.9252

b
A= Cos(—J
12

.3=Tan(105°)

[17 TE]
.5 =Csc
12

| .7 =Tan(285°)

Nol =

No3 =

X [Page = 0003]

3=
.6:Cos( ]
12

.8=1Sin(345%) |

.2=Sin(75%)

4=Cot((-75)°)

, No2 =

b 37 ]
[A:O,B:E,C:Tt,Dz—}

[ Condl = (Sin(a) = gj Cond2 = (COS( B)= fﬂ

.1 =Cos(a)
.3=Tan(a)
.5 =Cos(a+B)
.7=Cos(2 a)

No5 = [ Cond = (Cos(58°) = 0.530), Question = Sin(29°)],

No6 =[ Cond = (Cos(14°) = 0.970), Question = Cos(7°)],

2
(=
I=1-2Sin —
12

2 Tan(22.5°)
=
1 — Tan(22.5%)

i b
7=2 SinE—] Cos(—)
8 8

Tan(15°) + Tan(30°)
1 — Tan(15°) Tan(30°)

2

, ,Nod=
.2=Sin(B)
4=Sin(f-a)
.6=Tan(a —B)
.8§=Tan(2 B) |

.3=Cos(10°) Cos(80°) — Sin( 10°) Sin(80°)

.2=Cos(60°) Cos(15°) + Sin(60°) Sin(15%)

2
4=2Cos(15%°) -1

2 2
.6=C0s(22.5°) - Sin(22.5°)

(= b b (=
.8=Sin| — | Cos| — |+ Cos| — | Sin| —
18 9 18 9
(4= b 4n) (=
.10 =Sin| — | Cos| — |—Cos| — | Sin| —
9 9 9 9]

[ [ b1 3w } i
A=—,B=n,C=—"",D=2n
2 2
[Cond] = (Sin(a) = %j, Cond?2 = [COS(ﬁ) :iﬂ
.1 =Cos(a) .2 =Sin(B)
3 =Tan(P) 4=Sin(B-a)
S5=Cos(aa—B) .6=Tan(a+ )
.7=Cos(2 a) .8=Tan(2 B) ]
M
U
T
M
U
T

e xRNSR~ Eruu TR

L
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TrigonometryExercise4 for No.9312

)
_ - - A
2 Tan E P
.1 =Cos(50°) Cos(20°) + Sin(50°) Sin(20”) 2= vV
a2 s
] ] BT LLs]]
S5n o o
- 0 — Sin| — Tan(35°) + Tan(25 &
1 =Cos(105%) .Z—Sln( 12) . ( )0 ( ) 422 Sin(15%) Cos(15°) SEE
o R 1 — Tan(35°) Tan(25%)
.3=Tan(15%) 4 =Csc((-75)") 2 TE a
Nol = . 17n o | No2 = Tan(—]—Tan(—] R s t
S=Sin| ———— | .6=Tan((-165)") 5 15 ([ 17n b1 17n) (= A
12 S= .6=Sin| ——— | Cos| — | — Cos Sin| —
27 T 30 15 30 15 @
_ 137 _ T 1 + Tan| — | Tan| ——
.7=Cos .8 =Cot| — 5 15 M
L 12 12) | 2
n U
.7=Sin(30°) Cos(15°) + Cos(30°) Sin(15%) S=1-2 Sin(g) L 7T1]
2 )
2 2 T )
.9=Cos(22.5°) —Sin(22.5%) .10=2COS(E) -1 o
: . 2
L
{ T 3n } [ T 375}
A=0,B=—,C=—",D=2n A=—",B=n,C=n,D=""—
2 2 2 2
3 . -1 -1 . -1
Condl =| Cos(a) =~ |, Cond2 =| Sin(B)=—" Condl =| Cos(at) =71, Cond2 =| Sin(B)=—"
No3 = 5 4 . Nod= 2 6
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(a+B) 3 =Tan(P) .4 =Sin(a - )
S=Cos(aa—B) .6=Tan(f—-a) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Cos(2 o) 8=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 o) J
M
No5 = [ Cond = (Cos(52°) = 0.616), Question = Sin(26°)], ,| U
T
M
No6 = [ Cond = (Cos(8°) = 0.990), Question = Cos(4°)], ,| U
T
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TrigonometryExercise4 for No.9397

2
G
- 5 - P
b
.1:2COS(EJ -1 .2=Sin(110%) Cos(20°) — Cos(110°) Sin(20°) Z
I ST | 3=C (lhjc (S—EJ S‘[”njs [S—RJ 4=1-28in(225°) -5
'IZS“‘(EJ 2=Cos(15°) .3 =Cos| 36 05| 36 + Sin| 36 in 36 4=1-28in(22.5") &
7 2 Tan(15°) W2 2 M
.3 =Tan| D) .4=Sin(195%) = 2 .6=Cos(15”) —Sin(15%) a
Not = 17 197 \[ V2= ) '
_ _ Tan(57°) — Tan( 12°
-5—Tan( 12J 6—CSC(‘ J 7 - —ran(37) (12) .8=Sin(30°) Cos(15°) + Cos(30°) Sin(15°) h
1 + Tan(57°) Tan(12°) @
o 23 n M
.7=Cot((-195)°) .8=Sec| — sn T
i 12 /] Tan + Tan| U
36 36 T b
= 10=2 Sin(—] Cos[ LT ]
Sn b 8
1—Tan| — | Tan| — _)
L 36 36
o
2
L
b b 3n 3n
A=0,B=—C=—D=n A=n,B=—,C=—D=21
2 2 2 2
1 . 5 -2 . -5
{Condl = [Cos(a) = —j, Cond?2 = (Sm(B) :—H {Condl = [Cos(a) = —j, Cond?2 = [Sm(B) = —H
No3 = 2 91 No4= 3 6
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(p)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) 4 =Sin(a +B)
S5=Cos(aa—B) .6=Tan(a+ ) S=Cos(p—-a) .6=Tan(a—p)
L .7=Sin(2 B) 8=Tan(2 o) ] L .7=Cos(2 o) .8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(30°) = 0.866), Question = Cos(15°)], ,| U
T
M
No6 = [ Cond = (Cos(76°) = 0.242), Question = Sin(38°)], ,| U
T
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TrigonometryExercise4 for No.9449

)
1 S'[RJC (nj C[an'(nj 2=Sin(57°) Cos(12°) — Cos(57°) Sin( 12° P
A= — — |+ - —| 2= -
in 15 0| 10 0| 5 in 10 in(57") Cos(12”) — Cos(577) Sin(12%) v
2
_ _ .3 =Cos(40°) Cos(10°) + Sin(40°) Sin(10°) 4=2Cos(15°) -1 g
- LLS 1]
1=Sin(105°) 2= COS(_j Tan(ij + Tan(lj &
12 (= T 12 6 s
S 45:25111; COSE 6=
_ 2t _ ) o ks T
3=Tan| "] 4= Cos((-105)") 1—Tan(—J Tan(_j a
Nol = , No2 = 12 6 , , t
Rk o ’ ’ h
.5 =Sec| — .6 =Tan(195%) 2 T T
12 .7=1-28in(22.5°) .8=Cos| —| - Sin| — @
8 8
. 19n T M
7=8in| —-—_— 8=Csc| -7 b
L 12 12/ | 2 Tan E U
=" 3 .10 = Cos(75°) Cos(15°) — Sin(75°) Sin(15°) L7l
=T 2 .
] 12 | o
2
L
[ T 3n } [ 3n T }
A=0,B=—C=—,D=2n A=n,B=—,C=—D=n
2 2 2 2
. 1 3 . 5 2
{Condl = [Sm((x) :—], Cond?2 = (COS(B) :—H {Condl = [Sln(q) :—j, Cond?2 = (COS(B) :—H
No3 = 6 T No4= 9 3
.1 =Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(B)
.3=Tan(pB) 4=Sin(f-a) .3 =Tan(a) 4=Sin(f-a)
S=Cos(aa—B) .6=Tan(a+ ) S=Cos(aa+P) .6=Tan(a—P)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Cos(2B) S=Tan(2 o) ]
M
No5 = [ Cond = (Cos(40°) = 0.766), Question = Sin(20°)], ,| U
T
M
No6 =[ Cond = (Cos(76°) = 0.242), Question = Cos(38°)], ,| U
T
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TrigonometryExercise4 for No.9562

_ P -
G
- X _ P
(5= T St} (= b V
.1 =Sin| — | Cos| —— |- Cos| /| Sin| — 2=2Cos| —| -1 S
18 9 18 9 8
[ Sn i 4n T LLs 1l
.I=Cos D) .2=Sin(15%) Tan| S — Tan| o &
. .3=2Sin(22.5°) Cos(22.5%) 4= (T
_JE : o 4r s
.3:Tan( 12] .4 =Sin((-165)") 1+Tan(—J Tanl—] a
Nol = 7 , No2 = 29 92 R , t
.5:Csc£— > ) .6 =Sec((-105)°) .5=Cos(100°) Cos(10°) + Sin(100°) Sin(10°) .6 =Cos(15°) — Sin(15°) h
o o 2 @@
7—Cod =27 g - 2T =3 )+ Tan(23 ) .8:1—ZSin(lj M
TR T ) T T | - Tan(5°) Tan(25%) 12 U
T T (rm) (= 2 Tan(15°) T
.9=C0s€ COSE —Slng SIHE A0=—""7 T
L 1 — Tan(15°) ] 2
o
)
- - - _ B :( -
[ P 3n } [ T 375}
A=0,B=—C="—"—D=21 A=—B=nC=nD="—
2 2 2 2
1 . -1 . 3 -2
[Condl = [Cos(a) = —j, Cond?2 = (Sm(B) :—H [Cond] = (Sm(a) = —j, Cond?2 = (COS(B) = —H
No3 = 3 20 Nod= 8 5
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(PB)
3 =Tan(a) .4 =Sin(a + B) 3 =Tan(P) 4 =Sin(a + )
S=Cos(Bp—a) .6=Tan(a—f) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Cos(2 o) 8=Tan(2 ) ] L .7=Sin(2 o) 8=Tan(2 B) ]
M
No5 =[Cond = (Cos(80°) = 0.174), Question = Cos(40°)], ,| U
T
M
No6 = [ Cond = (Cos(6°) = 0.995), Question = Sin(3°)], ,| U
T
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TrigonometryExercise4 for No.9721

2
_ ) _ i
.1 =28in(22.5°) Cos(22.5%) .2=2Cos(15%°) -1 P
, S S R Tan(85°) — Tan(25°) 4
.3=Sin(100") Cos(10”) — Cos(100") Sin(10”) = S R S
1 + Tan(85") Tan(25%) s
_ - _ i LLS 1]
.]ZCOS[EJ 2= Sin(105%) YV 2 Tan & &
.5:1—ZSin[—] = M
3=Tan(75%) 4= Csd ok ’ n) “
Nol=| =~ an(757) A= , No2 = l—Tan(gj ’ ’ !
17w 2 2 h
.5=Sec(255°) .6=Cot| ——— T n () (= n (= @
12 .7:Cos5 Cosg _SIHE Smg .8:CosE —SmE
| 7=Tan((-75)°) .8=Sin(285°) | M
P Tn U
Tan(—j + Tan(—j
. o o o R 18 36 LL T 1]
.9=Sin(70") Cos(20”) + Cos(70”) Sin(20”) .10= 7 )
T T 2z
1- Tan(—j Tan(—j .
L 18 36 ) :(
)
L
b3 3w b3 3w
A=0,B=—C=n,D=—" A=—B=n,C=—"—D=2n
2 2 2 2
) 3 -1 . 4 4
Condl =| Sin(a.) =— |, Cond2 =| Cos(B)="" Condl =| Sin(a) =T |, Cond2 =| Cos(B) ="
No3 = 8 3701 No4= 7 9
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(P)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) 4 =Sin(a + )
S=Cos(aa—P) .6=Tan(a+p) S=Cos(p-—a) .6=Tan(a—p)
L .7=Cos(2 a) 8=Tan(2B) ] L .7=Cos(2 o) .8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(38°) = 0.788), Question = Cos(19°)], ,| U
T
M
No6 = [ Cond = (Cos(14°) = 0.970), Question = Sin(7°)], ,| U
T
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TrigonometryExercise4 for No.9789

2
G
_ s _ P
1=2Cos(15%) -1 .2 =Cos(80°) Cos(20°) + Sin(80°) Sin(20°) v
. . . 2 Tan(15°) S
-~ ~ .3 =2 8Sin(22.5%) Cos(22.5%) A= LLS 1]
1= Cos(75%) .2:sm[7—“] 1= Tan(157) &
; (55 mel3) .
Tan + Tan
3:Tan[ij 4=Csc(lan 5= I8 ? 6 = Sin(48°) Cos(12°) + Cos(48°) Sin(12° ‘
Nol=| 12 ' 12 ) [ No2=| °= o) 0=Sin(487) Cos(127) + Cos(487) Sin(127) | - | || 4
. 171 1- Tan(g) Tan(;} h
.5 =Sec((-105)%) .6:Cot[— 12) v @
L.7=Sin((-195)°) .8=Tan((-75)°)] .7:1—ZSin(Ej .8 =Sin(42°) Cos(12°) — Cos(42°) Sin(12°) A(;I
2 2 T
T [ m T Tn (m)  (Tm LL £ J]
.9:Cos(—j —Sln(—J .IOICOS(_J Cos(—j—Sm(—j S1n(—] 2)
L 8 8 9 18 9 18 /] 2
A
2
L
i [ b 3n } i i [ T b } ]
A=0,B=—,C=—D=21 A=n,B=—,C=—D=n
2 2 2 2
[comar=[smor 5} com=(coupy=2|| - consr={ o5} conz=[sp 3
Condl =| Sin(a.) =7 |, Cond2 =| Cos(B) == Condl =| Cos(at) =", Cond2 =| Sin(B) ="
No3 = 3 5 . Nod = 5 9
.1 =Cos(a) .2=Sin(B) .1=Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) .3 =Tan(P) 4 =Sin(a +B)
S=Cos(aa—fB) .6=Tan(a+f) S=Cos(aa—P) .6=Tan(f—-0a)
L .7=Cos(2 B) .§=Tan(2 a) ] L .7=Cos(2B) 8=Tan(2 a) ]
M
No5 = [ Cond = (Cos(62°) = 0.469), Question = Cos(31°)], ,| U
T
M
No6 = [ Cond = (Cos(18°) = 0.951), Question = Sin(9°)], ,| U
T
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TrigonometryExercise4 for No.9795

Nol =

X [Page = 0010]

i 2
A=1-2 Sin(—j
12
_ - 2
i e
= Cos[—J .2=Sin(75%) 3=2 Cos(—J -1
12 8
Tm ° T
.3 =Tan —2 .4 =Tan((-105)") | No2= 2 Tanl E

| .7 =Cot(285°%)

S5n D= 2
.6=Sec| ——— I
12 1 —Tan| —
12

.8 =Cos(195°
(1957 - 7= Sin(35%) Cos(5°) — Cos(35°) Sin(5°)

Tm b4 Tm T
9= Cos[ J Cos( ] + Sin[—J Sin(—j
L 12 12 12 12

2 2
.2=Cos(22.5°) - Sin(22.5°)

Tan(85°) — Tan(25°)
1 + Tan(85°) Tan(25°)

i b

Tan| — |+ Tan| —
12 6

b b
1 —Tan| — | Tan| —
12 6

.8 =Cos(78°) Cos(12°) — Sin(78°) Sin(12°)

.10 =2 Sin(15°) Cos(15°)

[ b b3 } i [ [ 3n 3w } i
A=0,B=—C=—D=n A=n,B=—C=—D=21
2 2 2 2
[CondI:(Sin(a)—éj Cond?2 = [COS(B):iH [Cond] (Cos(on)— )CondZ (Sin(ﬁ):ﬁﬂ
No3 = 7 3 ., Nod= 5
.1=Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) .4 =Sin(a - )
S5=Cos(aa+fB) .6=Tan(a—B) S=Cos(p-a) .6=Tan(a+p)
L .7=Sin(2 B) 8=Tan(2 o) ] L .7=Cos(2 o) 8=Tan(2 B) J
M
No5 = [ Cond = (Cos(64°) = 0.438), Question = Cos(32°)], ,| U
T
M
No6 = [ Cond = (Cos(34°) = 0.829), Question =Sin(17°)], ,| U
T
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TrigonometryExercise4 for No.9839

2
(5]l i
Tan| —— |- Tan| — P
30 15 (= i
1= .2=2Sin| = | Cos| = v
[7 n) (n) 12 12 s
1+ Tan| —— | Tan| ——
~ _ 30 15 LS 1]
. S5n ° 2
1 =Sm(—j 2=Cos(15°) .3:sm[£] COS(LJ—COS[EJ sm[i) 4=2Cos(22.5°) — 1 L
12 3 12 3 12 M
3 = Tan(105° 4 S,(wnj n y
Nol=| =~ an( ) A, , No2 = . . ) o . 2Tan§ \ , 4
5=Sec((-285)°) .6=Cos((-195)°) .5 =Cos(85%) Cos(25”) + Sin(85") Sin(25") b=—" " h
1= o 1—Tan(£] @
.7 =Tan| — I .8=Csc((-105)") 8 M
B B Tan(35°) + Tan(10°) 02 02 U
= .8§=Cos(15”) —Sin(15") T
1 — Tan(35°) Tan(10°) LL 4
2 2)
[ m 137 b (13= (= -
.9 =Sin| — | Cos| + Cos| — | Sin| 10=1-2Sin| — g
L 15 30 15 30 8 i )
L
{ T 3n } [ 3n T }
A=0,B=",C=—",D=2n A=n,B=—"",C=—",D=n
2 2 2 2
. 2 2 . -1 -1
Condl =| Sin(at) =7 |, Cond2 =| Cos(B) =" Condl =| Sin(at) =— |, Cond2 =| Cos()=""
No3 = 7 SIH Noa= 5 2
.1 =Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) 4=Sin(f-a)
S5=Cos(aa—fB) .6=Tan(a+ ) S=Cos(aa—P) .6=Tan(a+p)
L .7=Sin(2 o) .8=Tan(2 ) ] L .7=Sin(2 B) .8=Tan(2 ) ]
M
No5 = [ Cond = (Cos(86°) = 0.070), Question = Cos(43°)], ,| U
T
M
No6 =[ Cond = (Cos(16°) = 0.961), Question = Sin(8°)], ,| U
T
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TrigonometryExercise4 for No.9843

- 0 — ; o 2 2
Nol = '3‘Tan(1735 ) 4=Tan(( 2§5) )| No2=| .5=Sin(48°) Cos(12°) + Cos(48°) Sin(12°) .6=Cos(22.5°) — Sin(22.5%) ,
T T
.5:Sec£ ] 46:Sin(——] Tn T (Tm) [ o o O an
12 12 .7=Cos 36 Cos 18 — Sin 36 Sin| 18 .8=Cos(85") Cos(25") + Sin(85”) Sin(25")
L.7=Csc(345°) .8=Cot((-195)%)]
(3457 ((-195)°) 2 Tan(22.5%) 7Y
Y="""""""73 .10:2C0s§ -1
L 1 — Tan(22.5%) | LL L]
[ [ P 3n } ] I [ 3n T } i
A=0,B=—,C=—D=21 A=n,B=—,C=—D=n1n
2 2 2 2
4 . 2 -3 : 3
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T
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TrigonometryExercised4 for No.9854
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L
b T 3w 3w
A=0,B=—",C=—",D=n A=n,B=—"",C=—",D=2n
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[Cond] = (Cos(on) = lj Cond?2 = (Sin(ﬁ) = lﬂ [Cond] = (Sin(a) :ﬁj, Cond?2 = [COS(B) :lﬂ
No3 = 2 3 . Nod= 7 4
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
.3=Tan(B) 4=Sin(f-a) 3 =Tan(P) 4 =Sin(a +B)
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L .7=Cos(2 B) .§=Tan(2 a) ] L .7=Cos(2B) .8=Tan(2 a) J
M
No5 =[ Cond = (Cos(20°) = 0.940), Question = Cos(10°)], ,| U
T
M
No6 = [ Cond = (Cos(86°) = 0.070), Question = Sin(43°)], ,| U
T
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TrigonometryExercise4 for No.9862
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No5 = [ Cond = (Cos(34°) = 0.829), Question = Cos(17°)],
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TrigonometryExercised4 for No.10278
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.1 =Cos(a) .2=Sin(PB) .1 =Cos(a) .2=Sin(B)
.3=Tan(B) .4 =Sin(a + B) 3 =Tan(P) 4 =Sin(a - B)
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M
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M
No6 = [ Cond = (Cos(64°) = 0.438), Question = Cos(32°)], ,| U
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TrigonometryExercise4 for No.10361
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M
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TrigonometryExercise4 for No.10532
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TrigonometryExercise4 for No.10688

)
G
- ~ P
b e V
Tan(—J - Tan(—J
3 12 (17= b 17n) (= N
A= .2=Sin Cos| = |- Cos| Sin| — S
- . LT [EJTan[lj 30 15 30 15 Lol
.1 =Cos(105°) .2:sm(—) a5 12 &
12 , M
T S5n Tn Sn I
.3=Tan om 4 ="Tan| — 237 .3=COS(_] COSL_]—Sin(_] Sin(—] 4=1-2 Sin(—] a
Nol = 12 12 J|, No2 = 36 36 36 36 12 A , t
2 2
. o 1371 P P h
.5=Sin((-75)") .6=Cot| — 12 .5 =Cos| g — Sin E .6 =Cos(42°) Cos(12°) + Sin(42°) Sin(12°) @
L .7=Co0s(255°) .8=Csc((-285)°)] 2 2 Tan(22.5°) M
.7=2Co0s(22.5°) -1 S=—" 3 U
1 — Tan(22.5%) LL 714
L .9=2Sin(15°) Cos(15°%) .10 =Sin(25°) Cos(20°) + Cos(25°) Sin(20°) | i
A
)
L
b1 T 3n 3w
A=0,B=—C=—D=n A=—B=2nC=nD="—"—
2 2 2 2
. 1 -5 5 . -1
Condl =| Sin(at) =7 |, Cond2 =| Cos(B) =" Condl =| Cos(at) =T~ |, Cond2 =| Sin(B) ="
No3 = 3 7)1 No4= 7 2
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) .4 =Sin(a - B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(Bp—a) .6=Tan(a+f) S5=Cos(ac+p) .6=Tan(a— )
L .7=Cos(2 B) .§=Tan(2 a) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(58°) = 0.530), Question = Sin(29°)], ,| U
T
M
No6 =[Cond = (Cos(6°) = 0.995), Question = Cos(3°)], ,| U
T
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TrigonometryExercise4 for No.10868

.1 =Cos(57°) Cos(12°) + Sin(57°) Sin(12°)

2
2=1-2 Sin( j
T
i [Sm | 2n T 2n b 2 Tan E -
-1 =Sin| 12 -2=Cos(1057) 3= COS(TJ Cos(g) - Sin(Tj Sin(—j A=

o |3
T
L
L

9 n 2 r
1 —Tan| —
12

.6=2 Sin(22.5%) Cos(22.5°)

4=Cot(165°)

Nol = . No2=| 5= Sin(20°) Cos(10°) + Cos(20°) Sin(10°)

.6=Cos((-345)°)
.7 =Sin(40°) Cos(10°) — Cos(40°) Sin(10°)

X

. 2
.8=2COS£_J -1
12

e x| NTE@Fs~r R SR

(19 ] [ 197:)
.7 =Csc| 8=Tan| —-———
- 12 12 /] Tan(z—n]—Tan(l]
02 ) 0.2 5 15 L T |
.9=Cos(15%) —Sin(15%) A0=
2n b
1+ Tan[—j Tan(—j
L 5 15/
[ [ b 3n} i i [ 3n b } T _
A=0,B=—,C=n,D=—""— A=—""B=2nC=",D=n
2 2 2 2
[comar={coser=3 comz={smp =2 | cor={smr= ] comz = coun
Condl =| Cos(at) =" |, Cond2 =| Sin(B) =" Condl =| Sin(a) =— |, Cond2 =| Cos(B) ="
No3 = 4 7 ., Nod = 7 9
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(P)
.3=Tan(pB) 4=Sin(a +B) 3 =Tan(P) .4 =Sin(a - )
S5=Cos(aa—B) .6=Tan(f—-a) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Sin(2 B) .§=Tan(2 o) ] L .7=Cos(2B) .8=Tan(2 o) i
M
No5 =[Cond = (Cos(36°) = 0.809), Question = Cos(18°)], ,| U
T
M
No6 = [ Cond = (Cos(84°) = 0.105), Question = Sin(42°)], ,| U
T

[Page = 0019]

);0:0:0:9:9.0.0:9:9:9.0,0:0:9.9:0.0.0.:0:9:9:0.0.0:9.9,0.0.0:0:9:0.0.0.0:9:9:0.0.0:0.9,0,0.0.0:9:9,0.0.0.0.:9,0.0.0:0:9.9,0.0.0:0.9:9.0.0.0:9:9.0.0.0:0.9:0,0.0.0:9:9.0.0.0.:9.9,0,0.0:0.:9:9.0.0.0.:0.9.9.0.0:0.:9:0.0.0.0:0:9:0.0.0.0:0:9:0.0.0:0.:9.0,0.0.0:0.9.9.0.0.0:9:9.0.0.0:0.9,0.0.¢



):0:9:0:9:9:0.9:9:9.9:0.9.0:9.9.9.0.9:9.9.9:9.0.0:9.9.9.0.0.:0:9.9.0.0.0.:0.9.9.0.0:0.9.9:0.0.0:0.9,9.0.0:0.9.9.0.0.0:0.9,9.0.9.0.9.9.9.0.0.0.9.0.0.9.:0.9.9.9.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.9.0.0.0.9.9:0.0.0:0.9.9.0.0.0.:0.9.0.0.0.:0.9.9.0.0.0.0.9,9.0.0:0.9.0.0.0.0:0.9.9.9.0.0:0.9.9.0.0:0.0.9.0.0.0:0.9.0.0.9:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKKXX XX XK XXX KKKXK KKK KKK XXX KKK KKK KKK XXX KKK XXX KKK XXX KKK KKK KKK XXX K KKKKKKKKME /1-6400304-00020XX

TrigonometryExercise4 for No.10900

.1 =Cos(75°)

Nol =
.5 =Csc((-15)°)

[ 1775]
7=Cot| ———— 8
L 12

No3 =

X [Page = 0020]

(Tn
2=Sin| ——
12
T 11w
.3=Tan| — .4 =Tan|
12 12

.6=Cos((-105)°)

= Sec[—

, No2 =

237:]
12 /]

.1 =Cos(a)
3 =Tan(a)
.5=Cos(a—B)

L .7=Cos(2B)

No5 = [ Cond = (Cos(74°) = 0.276), Question = Sin(37°)],

No6 = [ Cond = (Cos(34°) = 0.829), Question = Cos(17°)],

b 3n i
[A:O,B:E,Czn,Dz—}

[Cond[ = (Sin(a) = %j Cond?2 = [COS( B)= gﬂ

—_
|
—
o
j=]
|
~—
—
8
e
3
a
~—

15

5w I .

.7 =Cos| — | Cos| 7 | — Sin|
18 18

.9=1—2Sin(

2

.2=Sin(B)
4=Sin(a +B)
LH=Tan(f—a)

.8§=Tan(2 o) i

W
a

12

Ne——

, No4 =

.2=Sin(42°) Cos(12°) — Cos(42°) Sin( 12°)

.4 =Sin(20°) Cos(10°) + Cos(20°) Sin(10°)

.6=2Sin(22.5°) Cos(22.5%)

(m Tn b (T7m) (=
j Sm(—J 8= Cos[—j COS(_J + Sln[—j Sm(—j
18 18 18 18 18

2 2
.10 =Cos(15°) —Sin(15%)

[ 3n b } i
A=—""B=2nC=",D=n
2 2
. -5 2
[Cond] = (Sm(a) :7j, Cond?2 = [COS(B) :7H
.1 =Cos(a) .2=Sin(P)
3 =Tan(a) .4 =Sin(a - )
S=Cos(p-a) .6=Tan(a+p)
.7=Sin(2 o) .8=Tan(2 B) ]
M
U
T
M
U
T

LR NS~ Eruu SR

L
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TrigonometryExercise4 for No.11693

)
r 2 2 ] :(
T . o o . o . o __}3__
v :Cos[g] - Sln(g] .2=Cos(70%) Cos(10”) + Sin(70”) Sin(10")
14
3=2C (n]z 1 1-2Si 102 >
s L 2= Cos(75%) | )T AmimamE LS
.1 =d1n 12 iz = OS( ) [57‘[] (T[J __&__
o o Tan| —— |- Tan| — M
o Sn Tan(18”) + Tan(12") 18 9
.3 =Tan(15%) .4 = Sec —E 5= 6= s a
_ o o T T
Nol 02| No2= 1 - Tan(18°) Tan(12°) 1+Tan[_j Tan(_) . ;
5= Cse((-255)°) 46:Tan£ ) 18 ? h
12 d @
2 Tan| —
. o R 12 M
.7=S8in((-105)") .8=Cot| - 12 .7=8in(50°) Cos(10°) + Cos(50°) Sin(10°) = U
- h T
l—Tan(—) LL T 1]
12 )
(1= T Iin) (=n . o o -
.9 = Sin| Cos| — | - Cos Sin| — .10 =2 Sin(22.5°) Cos(22.5°) o
L 36 18 36 18 J )
L
P 3n 3n T
A=0,B=—,C=—",D=2n A=n,B=—",C=—",D=n
2 2 2 2
3 . -4 -1 . 2
[Condl = [Cos(a) =—|, Cond2 = (Sm(B) :—H [Cond] = (Cos(a) :—j, Cond?2 = (Sm(B) :—H
No3 = 8 7)1 No4= 2 3
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
.3=Tan(B) 4 =Sin(a + B) 3 =Tan(a) 4 =Sin(a + )
S=Cos(aa—fB) .6=Tan(f—a) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Cos(2 a) .§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(64°) = 0.438), Question = Sin(32°)], ,| U
T
M
No6 =[ Cond = (Cos(36°) = 0.809), Question = Cos(18°)], ,| U
T
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TrigonometryExercise4 for No.12097

P
| o)) ey
Tan| — |+ Tan| —— P
36 36 _ ,
= .2 =Cos(85°) Cos(25°) + Sin(85°) Sin(25°) V
o)l :
1 — Tan Tan|
) _ 36 36 LLs]]
1 =Cos(75° 2=si [7—n] z &
1 =Cos(75%) -4 =10 12 2 Tan 2 . . ) o ) i7al
( Snj =" "3 .4 =Sin(40") Cos(10”) — Cos(40”) Sin(10") a
3=Tan(15°)  .4=Cofl - —— (n)
Nol = 12 )|, No2 = 1 —Tan| — R s t
8
19n h
.5=Cos((-345)°) .6:Csc( J S @
12 .5 = Sin(48°) Cos(12°) + Cos(48°) Sin( 12°) 46:2Cos[—J ~1 by
| .7=Sec(255°)  .8=Tan(165°) ) 12 U
7=1-2 Sin[%] 48:COS(150)2— Sin(lSo)2 LL 7T 1]
. T NEAPEE 2
.9=28Sin(22.5%) Cos(22.5%) 0= Cos[ jCOS( ] Sln(—] Sln[—j o
L 6 12 6 12) | 5
L
[ [ b T } i i [ 3n 315}
A=0,B=—C=—D=n A= B=2m C=n D=
2 2 2 2
[CondI:(Sin(a)—éj Cond2 = [cOs(B):iH [Cond] (Sm(a)— j Cond? = [cOs(B):ﬁﬂ
No3 = 8 43 Noa= 7
1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
=Tan(P) 4 =Sin(a - B) 3 =Tan(a) 4 =Sin(a + )
S=Cos(aa+fB) .6=Tan(f—-a) S=Cos(p—a) .6=Tan(a—P)
L .7=Sin(2 o) 8=Tan(2 B) ] L .7=Cos(2B) .§=Tan(2 o) i
M
No5 =[ Cond = (Cos(10°) = 0.985), Question = Sin(5°)], ,| U
T
M
No6 = [ Cond = (Cos(38°) = 0.788), Question = Cos(19°)], ,| U
T
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TrigonometryExercise4 for No.12172

Nol =

No3 =

X [Page = 0023]

2=
4 =Sec((-165)°)
.6 =Tan((-285)°)

8= Sin[—

Cos(105°)

, No2 =

.1 = Cos(75%) Cos(15°) — Sin(75°) Sin( 15°)

] T T b4 T
3= Sin[—j Cos(—J + Cos(—] Sin[—j
15 10 15 10

.5=Cos(110%) Cos(20°) + Sin(110°) Sin(20°) 6=

i
Tan[—j + Tan

(&)

[ b 3n}
A=0,B=—",C=n,D=—""—
2 2

[Cond[ = (Sin(a) = gj, Cond?2 = [COS( B)= %H

.1=Cos(a) .2=Sin(P)

3 =Tan(a) 4 =Sin(a - B)
S5=Cos(aa+fB) .6=Tan(f—-a)

.7=Sin(2 B) .§=Tan(2 o)

137 7=
1- Tan(lj Tan[ 1 TEJ
12 /. 15

60

2
.9=2Cos(15°) -1

, No4 =

2 2
.2=Cos(22.5°) — Sin(22.5°)

i 2
4=1-2 Sin(—j
12

2 Tan(15°)

2
1 — Tan(15°)

b T
=2 Sin(—J Cos[—J
8 8

.10 = Sin(40°) Cos(10°) — Cos(40°) Sin(10°)]

No5 =[ Cond = (Cos(78°) = 0.208), Question = Cos(39°)], ,| U

I [ 3w b } ]
A=—""B=2n,C="_",D=n
2 2
[Cond] = (Sin(a) :%j, Cond?2 = [COS(B) :%H
.1 =Cos(a) .2=Sin(P)
3 =Tan(P) 4=Sin(f-a)
S5=Cos(aa+f) .6=Tan(a—)
L .7=Cos(2B) .8=Tan(2 o) i
M
T
M

No6 = [ Cond = (Cos(34°) = 0.829), Question = Sin(17°)], ,| U

T

T
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TrigonometryExercise4 for No.12173

2
r 2 7 N
- R
.1 =Cos(80°) Cos(20°) + Sin(80°) Sin(20°) ,2:2Cos(3j 1 P
V
Sl ||
Tan| — |+ Tan| ——
r " 1 e s B 36 36 | s ]
.]=COS(_j 2= Sin(15) :3=2Sin(15°) Cos(15°) 4= - . o
12 1 —Tan| — | Tan| —— a7
S 36 36
.3=Tan ) 4 =Cos((-15)%) o) o) a
Nol = 93 , No2=|.5=Sin(57°) Cos(12°) — Cos(57°) Sin(12°) 6:COS[§] —Sin(g) \ , t
.5:Tan(— ) .6 = Cot((-285)°) h
2 Tmn b @
Tan| — |- Tan| ——
s ( llnj g c (171:) o . U (36] (36) M
7= ec| 7 .8=Csc 2 )| .7=Sin(50") Cos(10”) + Cos(50”) Sin(10”) .8= P N U
1+ Tan| — | Tan| = T
36 36 e
, )2 2 Tan(15°%) )
.9=1-2Sin(22.5%) do=——"""7 o
L 1 —Tan(15°) ] 2
L
[ P 3n } [ b1 3n}
A=0,B=—",C=—"",D=2n A=—",B=n,C=n,D="—
2 2 2 2
) 2 1 . 1 -3
Condl =| Sin(a.) =7 |, Cond2 =| Cos(B) == Condl =| Sin(a.) =T~ |, Cond2 =| Cos(B) ="
No3 = 3 S5)3 0 No4= 2 8
.1 =Cos(a) .2=Sin(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) 4=Sin(a +B)
S=Cos(aa+B) .6=Tan(a—f) S=Cos(aa—B) .6=Tan(f—-0a)
L .7=Cos(2 a) .8=Tan(2 B) ] L .7=Sin(2 a) .8=Tan(2 ) ]
M
No5 =[ Cond = (Cos(10°) = 0.985), Question = Cos(5°)], ,| U
T
M
No6 = [ Cond = (Cos(54°) = 0.588), Question = Sin(27°)], ,| U
T
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TrigonometryExercise4 for No.12180

.1=28in(22.5%) Cos(22.5°)

2 2
.3=Cos(15°) - Sin(15°)

.2=Cos(75%) Cos(15°) — Sin(75°) Sin(15°%)]

2
(=
4=1-2Sin| —
12

_ . . ) _
.1=COS[E] .2=Sin(75") 2 Tan(15°%) . . . o .
R R == 3 .6 =Cos(40”) Cos(10”) + Sin(40) Sin(10")
3=Tan(15°)  .4=Csc((-75)°) |~ Tan(15°%)
Nol = ([ 17= oy | NO2 = S5x T S5m T ’
3 =8in =5 :6=Cot((-255)") .7:Sin(—]COS(—j+Cos[—J Sin(—j 8= Sin(85°) Cos(25°) — Cos(85°) Sin(25°)
36 36 36 36
137 o
.7:Tan[——j .8 =Cos((-285)%) ) Tan(EJ_TaHLLJ
. 12 - (n) 3 12
.9=2Cos| —| -1 =
8 5l
1+ Tan| — | Tan| —
L 3 12
[ [ b T } ] i [ 3n 315}
A=0,B=—C=—D=n A=—B=2nC=nD="—"—
2 2 2 2
[coma={smcer=g ) cosz=(copr =3[ | comr={coan=3 ) comiz=[socp1 -
Condl =| Sin(at) =7 |, Cond2 =| Cos(B) =" Condl =| Cos(at) =~ |, Cond2 =| Sin(B)=—"
No3 = 2 3 |, Nod = 5 6
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(PB)
.3=Tan(B) 4=Sin(f-a) 3 =Tan(a) 4 =Sin(a + )
S=Cos(aa+B) .6=Tan(a—f) S=Cos(p-a) .6=Tan(a—p)
L .7=Cos(2 o) 8=Tan(2B) ] L .7=Cos(2 o) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(70°) = 0.342), Question = Cos(35°)], ,| U
T
M
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No6 = [ Cond = (Cos(22°) = 0.927), Question = Sin(11°)], ,| U

T
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TrigonometryExercise4 for No.12256

2
i
P
I 2 Tan(22.5°) o . ] r
d=—" "3 .2=2Sin(15") Cos(15°) N
_ - 1 — Tan(22.5°%) LLS ]
° . Tr 2 &
.1 =Cos(75) .2=Sin| —— (m ) ) g
12 3=1-2Sin| — .4 =8Sin(20°) Cos(10°) + Cos(20°) Sin(10°) M
3=T (RJ 1 S(ZMJ 11 N 11 ¢
.3 =Tan| —— .4 =Sec b T T T 2
Nol = 12 12 ) |, No2= .5=COS( 60 JCOS(E)—Sin[ p jsm[gj .6=2Co0s(22.5%) —1 . t
5=S8in((-15)°) .6=Cos((-285)°) ; ) h
23 1t 137 b = Tan(12°) + Tan(48°) @
7=Cotl ———— | .8=Tan|— .7=Cos| — | —Sin| — 8= ) . by,
L 12 12 )] 8 8 1 — Tan( 12°) Tan(48°) U
Tan(40°) — Tan(10°) (Tn n Tn) (=
9= .10=Sin| — | Cos| 7= |- Cos| — | Sin| — LLT 1]
L 1 + Tan(40°) Tan(10°) 12 12 12 12)] 9
A
)
L
[ b b } [ 3n 3n }
A=0,B=—",C=—",D=n A=n,B=—"",C=—",D=2n
2 2 2 2
1 . 3 -5 . -1
{Condl = [Cos(a) = —j, Cond?2 = (Sm(B) :—H {Condl = [Cos(a) = —j, Cond?2 = [Sm(B) = —H
No3 = 3 8 . Nod = 6 4
.1 =Sin(a) .2=Cos(PB) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(a+B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(p-a) .6=Tan(a—B) S=Cos(aa+P) .6=Tan(a—p)
L .7=Sin(2 o) 8=Tan(2 ) ] L .7=Cos(2 o) .8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(76°) = 0.242), Question = Cos(38°)], ,| U
T
M
No6 = [ Cond = (Cos(46°) = 0.695), Question = Sin(23°)], ,| U
T
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TrigonometryExercise4 for No.12278

2
A
- - P
191 T b1
Tan — Tan| — 2 Tan| — v
60 15 12 s
1= 2=
- ) 197 k2 n LLS 1]
.1 =Cos(105°) .2:Sin(E] I+ Tan| == | Tan| 70 l—Tan[Ej &
a1
5m ) o 2 2 Tan(35°) + Tan(25°
-3:Tan(fj .4 =Sin((-165)") .3=Co0s(22.5°) —Sin(22.5°%) 4= ( )0 ( ) a
Nol =  No2= 1 - Tan(35°) Tan(25°) RN
B 197 B o o o ) oo A i Tn) ([ m h
I =Cos| 757 ] -6=Tan((-345)7) .5=Cos(35°) Cos(5°) + Sin(35°) Sin(5°) .6 =Sin| — | Cos| — |+ Cos| — | Sin| —
36 18 36 18 @
n o 17w T 17w T 2 M
7 =C0t(—_2] -8=Csc((-285)") .7=Sin[ jCOS(_]—COS[ )sm[—) 8=2Cos(15°) —1
L 1 . 30 15 30 15 U
2 L7l
T T T
9=2 Sin(—] COSL_] A0=1-2 Sin(—) 2)
8 8 12 J -
o
)
L
T 3n b1 3n
{A:O,B:—,C:—,D:Z‘n} [Az—,an,Czn,Dz—}
2 2 2 2
. 3 1 -4 . -1
Condl =| Sin(at) =~ |, Cond2 =| Cos(B) =" Condl =| Cos(a) =", Cond2 =| Sin() ="
No3 = 8 I Noa= 7 2
.1 =Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(p)
.3=Tan(pB) 4=Sin(a+B) 3 =Tan(P) 4 =Sin(a +B)
S=Cos(p—a) .6=Tan(a—B) S=Cos(p—-a) .6=Tan(a—p)
L .7=Sin(2 a) .8=Tan(2 B) J L .7=Sin(2 o) .8=Tan(2 B) J
M
No5 = [ Cond = (Cos(86°) = 0.070), Question = Cos(43°)], ,| U
T
M
No6 = [ Cond = (Cos(22°) = 0.927), Question = Sin(11°)], ,| U
T
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TrigonometryExercise4 for No.12482

2
_ . — __',(__
2Tan[—J P
8 2 2
A=—""7 .2=Co0s(22.5°) —Sin(22.5%) v
T S
1 — Tan| 2 s ]
el | o
= — =Si ° — |+
.1 =Cos| I .2 =Sin(105%) an 15 an P - 2 M
3=Tan(75°)  .4=Cos(195°) 7T 1 4=2Cos ) 1 ¢
3= n 4 = T I
Nol = ! 19 1 o 7 , No2 = 1—Tan£;} Tan[ o ) 5 , 4
S= Csc( J 6= Tan[ ] h
12 12 5=Sin(105°) Cos(15°) — Cos(105°) Sin( 15° 6 =Si (L]C [S_TCJ C [ljs [S_TCJ @
|.7=Cot((-165)°) .8 = Sec((-285)°). 9= 8in(1057) Cos(157) = Cos(1057) Sin(157) 6= Sin| " Cos{ =7 )+ Cos| 7] Sin| 7 M
n Y U
.7 =Cos(10°) Cos(20°) — Sin(10°) Sin(20°) .8=1-2Sin E L 7]
) o o Tan(80°) — Tan(20°) 2
.9=2Sin(15%) Cos(15°) 0= o(
L 1 + Tan(80°) Tan(20°) N
L
[ T 3n } [ b3 3n}
A=0,B=—C=—,D=2n A=—B=nC=nD=—"
2 2 2 2
. 5 3 -3 . -2
Condl =| Sin(a) =T |, Cond2 =| Cos(B) =T Condl =| Cos(a) =", Cond2 =| Sin() ="
No3 = 7 T No4= 4 7
.1 =Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(p)
3 =Tan(a) 4=Sin(a+ ) 3 =Tan(P) 4 =Sin(a +B)
S=Cos(aa—B) .6=Tan(fp—-a) S=Cos(aa—B) .6=Tan(f—-0a)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Cos(2 o) .8=Tan(2 B) ]
M
No5 =[Cond = (Cos(72°) = 0.309), Question = Cos(36°)], ,| U
T
M
No6 = [ Cond = (Cos(24°) = 0.914), Question = Sin(12°)], ,| U
T
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TrigonometryExercise4 for No.12586

.2 = Sin(

7
.3:Tan(—j
1 n]

12

.7=Csc(195°) 8= Sec(—

i b
= Cos(—j
12
b1
1
Nol =
¢ 7

S= Tan( 6= Sin(—

No3 = [

75%)
2
.3=Cos(22.5°) —Sin(22.5°
105)°%)
197 [ N2= >
" .5=2Cos(15°) -1
1= b Il=
137 .7=COS( JCOS(_]-FSiH[
18 9 18
12 /]
Tan(35°) — Tan(5°)
L 1 + Tan(35°) Tan(5°)
I 3n i
|:A=0,B—_,C:_,D:2n:|
2 2
2 . -2
Condl = (Cos((x) =—|, Cond2 = (Sm(ﬁ) :—H
3 721 No4
.1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4 =Sin(a - B)
S5=Cos(aa+fB) .6=Tan(f—-a)
.7=Cos(2 B) .8=Tan(2 o) |
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4 =Cos((-

i 2
d=1-2 Sin[—j
12

No5 = [ Cond = (Cos(74°) = 0.276), Question = Cos(37°)],

No6 = [ Cond = (Cos(40°) = 0.766), Question = Sin(20°)],

2
)

o

T

9

)

[Cond] = (Sin(a) :% , Cond2 = [COS(B) :;IH

(m b
.2=2Sin| — | Cos| —
8 8
S5n i
Tan| — |+ Tan| —
18 18
4=
S5n b
1 —Tan| — | Tan| —
18 18

.6 =Sin(60°) Cos(15°) — Cos(60°) Sin(15°)
2 Tan(22.5°%)

2
1 — Tan(22.5°)

.10 =Sin(12°) Cos(33°) + Cos(12°) Sin(33°)

.1 =Cos(a)
3 =Tan(P)
S5=Cos(fp—-a)
.7=Cos(2 a)

M
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M
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.4 =Sin(a - )
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TrigonometryExercise4 for No.12677
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_ _ 1 — Tan(20°) Tan(40°) - Tan(_) Tan[_j o
7 . ) 18 9 ©
1 =Cos| —— .2=Sin(75") b g
12 2 Tan| E , M
R S 4=1-28in(225") “
Nol = 12 12) |, No2 = b t
o o 1 —Tan| — h
.5 =Sec((-285)") .6=Cot((-105)") 8
(197 5n s o U (13n T Br) (= @
.7 =Sin 8=Cos| ——— .5 =Cos(105”) Cos(15”) + Sin(105”) Sin(15”) .6 =Sin Cos| — | — Cos Sin| — M
L 12 12 ) ] 36 9 36 9 U
2 2
.7 =Cos(35°) Cos(10°) — Sin(35°) Sin(10°) .8=Cos(15°) —Sin(15°%) | T |
(= T b ’ 2)
.9=2Sin| — | Cos| 7 10=2Cos| —| -1 -
L 12 12 8 ] o
2
L
b1 T 3n 3w
A=0,B=—",C=—",D=n A=—"",B=2n,C=n,D="""
2 2 2 2
2 . 1 1 . -2
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) == Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=—"
No3 = 3 20 Nod = 2 3
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(P)
3 =Tan(a) 4=Sin(f-a) .3=Tan(a) 4 =Sin(a +B)
S=Cos(aa—B) .6=Tan(a+f) S=Cos(aa—B) .6=Tan(f—-0a)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 a) ]
M
No5 = [ Cond = (Cos(70°) = 0.342), Question = Sin(35°)], ,| U
T
M
No6 =[Cond = (Cos(6°) = 0.995), Question = Cos(3°)], ,| U
T
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TrigonometryExercise4 for No.13490
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b
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1 —Tan| —
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2
2=1-2Sin(15°)
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P
V
S
S
&
o M
.3:Tan(EJ .4 =Tan(255°) Tan( 16°) 4 Tan( 20° . , a
Nol = by | No2= _Tan ): an( ) .6=Co0s(22.5%) - Sin(22.5°) : t
.5=S€C£ ] .6:Sin(285°) 1—Tan(10 )Tan(20 ) h
12 4 L @
17 117 TanT —Tang M
7=Csc| — 5 .8=Cot| — 2 ) - e - .8 =Sin(25°) Cos(20°) + Cos(25°) Sin(20°) U
1+Tan(—] Tan(—J LL 7 1]
9 9 ]
5)eod5) L G e o ) I
.9=2Sin| — | Cos| — .10 = Sin| Cos| — |- Cos| —/— | Sin| — A
L 8 8 36 18 36 18 /] )
L]
[ [ I 3w } i i [ 3n b } i
A=0,B=—",C=—",D=2=n A=n,B=—",C=_",D=n
2 2 2 2
[Cond[ = (Cos((x) :lj, Cond?2 = (Sin(ﬁ) :ﬁﬂ [Cond] = (Sin(a) :ﬁj, Cond?2 = [COS(B) :iﬂ
No3 = > 8/ No4 = 7 3
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(pB)
.3=Tan(pB) 4=Sin(a +B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(p-—a) .6=Tan(a—B) S5=Cos(aa+f) .6=Tan(a—)
L .7=Sin(2 B) .§=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(48°) = 0.669), Question = Sin(24°)], ,| U
T
M
No6 =[ Cond = (Cos(20°) = 0.940), Question = Cos(10°)], ,| U
T
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TrigonometryExercise4 for No.13500
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o . o Tan(10°) + Tan(20°) M
3 - Tan(15° ieC 197 .3 =Sin(25") Cos(20°) + Cos(25°) Sin(20°) 4= 0 N a
Nol =| 3= an(15%)  .4=Cos 12 ) | No2= 1 — Tan(10°) Tan(20°) . ;
1371 522 Cos(15°) — 1 6 = Cod 2| Coo| = | - sin| 2= | sin| = h
5= Tan(255°) .6:Sec(—7j 9 =2 Cos(157) - R Y et UTY e WP A €T @
. o o Tan 500 — Tan 200 M
L.7=Sin(165")  .8=Cot(195") | .7=28in(22.5°) Cos(22.5%) = (507) (207) U
1 + Tan(50°) Tan(20°)
T
137 b (13n) (=& ) nz T
.9="Cos Cos| — |+ Sin| Sin| — 10=1-2Sin| — l
L 36 9 36 9 8 | (
)
L
b T 3n 3w
A=0,B=—C=—D=n A=mn,B=—,C="—",D=2n
2 2 2 2
. 3 -2 . -1 5
Condl =| Sin(at) =~ |, Cond2 =| Cos(B)="—" Condl =| Sin(a.) = |, Cond2 =| Cos(B) ="~
No3 = 8 7/ Nod = 3 6
.1 =Cos(a) .2=Sin(PB) .1 =Cos(a) .2 =Sin(P)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a - )
S=Cos(aa—fB) .6=Tan(a+f) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Sin(2 a) 8=Tan(2B) ] L .7=Cos(2B) S=Tan(2 o) ]
M
No5 = [ Cond = (Cos(84°) = 0.105), Question = Cos(42°)], ,| U
T
M
No6 = [ Cond = (Cos(12°) = 0.978), Question = Sin(6°)], ,| U
T
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TrigonometryExercise4 for No.13637

|a

= Sin(

3= Tan[

)
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.7 = Cse((-345)°)
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No3 =
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(SEJ (7nj
Tan| — |+ Tan| —
36 36

.2=Cos(105%)

4 =Sec((-105)°)

' (SEJ (7n
7 1 —Tan| — | Tan| —
36 36

.3=1Sin(5°) Cos(25°) + Cos(5°) Sin(25°) =

)

.2=Sin(35°) Cos(5°) — Cos(35°) Sin(5°)

Tan(57°) — Tan(12°)
1 + Tan(57°) Tan( 12°)

sy (“J (sl )l
197 .5=Cos(22.5°) —Sin(22.5°) .6=Cos| — | Cos Sin| — | Sin| ——
.6:Tan[— J 9 9 18
12 2 Tan(15°) n
.8=Cot((-15)°) ] .7:—2 .8=2Sin| — % Cos| — 12
1 — Tan(15°%)
T ’ 2
.9:2Cos(§j -1 10=1-28Sin(15%)
[ [ b T } ] i [ 3n 315}
4=0,B=",C="D=x A= B=2m C=n D=
2 2 2
o= {sncer= ) consz (o= | [ comr={cotan=2 ) comiz=[smcp =5
Condl =| Sin(at) =~ |, Cond2 =| Cos(B) =" Condl =| Cos(at) =~ |, Cond2 =| Sin(B)=—"
6 7 Nod = 6 5
1=Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
3=Tan(a) 4 =Sin(a + B) 3 =Tan(a) 4 =Sin(a + )
S=Cos(aa—fB) .6=Tan(f—a) S=Cos(p-a) .6=Tan(a—p)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(34°) = 0.829), Question = Sin(17°)], ,| U
T
M
No6 =[ Cond = (Cos(14°) = 0.970), Question = Cos(7°)], ,| U
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TrigonometryExercise4 for No.645101
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Tan( j—Tan(—j 2 P
36 9 b 4
A= 2=2Cos| —| -1
131 b 8 N
1 + Tan| Tan| — S
- . 36 9 LLs
1= COS(L] 2 =Sin(75°%) n &
A= 2= > Tanl -~ o
120 o (= 137 b (13® an[lQJ M
.3 =Tan(105%) .4 =Sec(195%) .3 =Sin E Cos| 30 + Cos| E Sin| 30 A= a
Nol = 197 231 )|, No2 = T , ) t
.5 =Tan| — .6 =Cos| — 1 - Tan i
12 12 12
, . 1l n . s . Tan(18°) + Tan(12°) @
.7 =Sin(255%) .8 =Csc| .5 =28in(22.5") Cos(22.57) = M
L 12 ) | 1 —Tan(18°) Tan(12°) U
(T b Tn) (= (= ’ T
.7=Sin| — | Cos| —— |- Cos| —— | Sin| —— 8=1-2Sin| — T
18 18 18 18 12 l
2 2
L .9=Cos(15°) —Sin(15°) .10 =Cos(12°) Cos(48°) — Sin(12°) Sin(48°) «(
)
L
[ P 3n } [ 3n T }
A=0,B=—C="—"—D=21 A=n,B=—,C=—D=n
2 2 2 2
. 1 5 -1 . 1
Condl =| Sin(a.) =7 |, Cond2 =| Cos(B) == Condl =| Cos(at) =", Cond2 =| Sin(B) =7
No3 = 3 T3 No4= 6 3
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
.3=Tan(B) .4 =Sin(a - B) .3 =Tan(P) 4 =Sin(a - B)
S=Cos(Bp—a) .6=Tan(a+f) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Sin(2 a) 8=Tan(2B) ] L .7=Cos(2 o) .8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(42°) = 0.743), Question = Cos(21°)], ,| U
T
M
No6 = [ Cond = (Cos(70°) = 0.342), Question = Sin(35°)], ,| U
T
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TrigonometryExercise4 for No.645102
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T
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.3=Cos| —— | Cos| —— |- Sin| —— | Sin —] .4=2Sin| — |Cos| — a1
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Nol = 12 12 No2 = Tan(£]+Tan(—nj t
o S5m) [ 9 9 2 Tan(22.5°%) ’ ’
.5 =Tan(255") .6=Cos| _E = 5 =" h
T T o
1 —Tan| — | Tan| —— 1 - Tan(22.57) @
o 17n 9 9 M
.7==Cot(285") .8=Csc|— ” )
- - .7=Sin(80°) Cos(10°) + Cos(80°) Sin(10%) .8=1-28Sin(22.5%) 4
L .9=Cos(85%) Cos(25%) + Sin(85°) Sin(25°) .10 =Sin(110°) Cos(20°) — Cos(110°) Sin(20°) - 5“
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L o
b1 T 3n 3w
A=0,B=—,C=—",D=n A=n,B=—",C=—"",D=2n
2 2 2 2
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Condl =| Sin(at) =— |, Cond2 =| Cos(B)="" Condl =| Sin(a.) = |, Cond2 =| Cos(B) =7
No3 = ) 23 Nod = 3 2
.1 =Cos(a) .2=Sin(PB) .1 =Cos(a) .2 =Sin(P)
.3=Tan(B) 4=Sin(f-a) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa—B) .6=Tan(a+f) S5=Cos(aa—B) .6=Tan(a+ )
L .7=Cos(2 B) S=Tan(2 o) ] L .7=Sin(2 a) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(72°) =0.309), Question = Cos(36°)], ,| U
T
M
No6 = [ Cond = (Cos(14°) = 0.970), Question = Sin(7°)], ,| U
T
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- n n B 2 LT ]
1+Tan[—J Tan(gj 1—Tan(£] )
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L (]
[ b3 375} [ 3w b }
A=0,B=—",C=n,D="" A=—"",B=2nC=",D=n
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5 . -3 1 . 2
Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=—" Condl =| Cos(at) =7 |, Cond2 =| Sin(B) =T
No3 = 7 S Noa= 2 7
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) .4 =Sin(a - B) 3 =Tan(a) 4=Sin(B-a)
S=Cos(p—-a) .6=Tan(a+p) S5=Cos(aa+B) .6=Tan(a—)
L .7=Cos(2B) .8=Tan(2 a) ] L .7=Cos(2 a) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(50°) = 0.643), Question = Cos(25°)], ,| U
T
M
No6 = [ Cond = (Cos(28°) = 0.883), Question = Sin(14°)], ,| U
T
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.3=Tan(B) .4 =Sin(a - B) 3 =Tan(P) 4=Sin(a +B)
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M
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T
M
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Condl =| Sin(a.) == |, Cond2 =| Cos(B) =7 Condl =| Cos(at) =71, Cond2 =| Sin(B) ="
No3 = 7 2)1  No4= 3 2
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
.3=Tan(B) .4 =Sin(a + B) .3 =Tan(P) 4 =Sin(a - B)
S=Cos(Bp—a) .6=Tan(a—f) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Sin(2 o) .8=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 ) J
M
No5 =[Cond = (Cos(16°) = 0.961), Question = Sin(8°)], ,| U
T
M
No6 = [ Cond = (Cos(40°) = 0.766), Question = Cos(20°)], ,| U
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L
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1 . 3 -4 . -1
Condl =| Cos(a) =7 |, Cond2 =| Sin(B) =" Condl =| Cos(a) =", Cond2 =| Sin() ="
No3 = 2 SIU 0 Noa= 5 3
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(p)
.3=Tan(pB) 4 =Sin(a - B) .3=Tan(a) 4=Sin(f-a)
S=Cos(p—a) .6=Tan(a+ ) S=Cos(aa+P) .6=Tan(a—p)
L .7=Cos(2 o) 8=Tan(2B) ] L .7=Cos(2B) 8=Tan(2 o) ]
M
No5 =[Cond = (Cos(6°) =0.995), Question = Cos(3°)], ,| U
T
M
No6 = [ Cond = (Cos(42°) = 0.743), Question = Sin(21°)], ,| U
T
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9 138 9 13 1 — Tan(12°) Tan(33°) LS 1]
r 72) ] s (n ]c (n) c (n ]5' (n] . Tan(60°) — Tan(15°) &
_q; o _ e .3 =Sin| —— | Cos| — |+ Cos| — | Sin| — 4= a7
.1 =Sin(75%) .2—COS[ 12] 18 9 18 9 1+Tan(60°) Tan(15°) M
= ° = - ° 2 2 Tan( 15° a
Nol=| 3 Tan(llsg) 4= Cos(( 135) )| No2 = S=1-2Sin(15°) .6:—()2 o ¢
T T o
45:Cot(——] 6=Cscl ———— 1 —Tan(15%) h
12 12 2 2 @
o : o 0 2 T . T
L.7=Sec((-165)°)  .8=Sin(195°) | .7=2Co0s(22.5°) -1 ,8:Cos[—j —Sm[—j M
12 12
T b v
.9 =Cos(35°) Cos(25°) — Sin(35°) Sin(25%) d0=2 Sin(g) Cos(gj LL T 1]
- : )
o
)
L o
b b1 3n 3w
A=0,B=—",C=—",D=n A=—""B=2n,C=n,D="—
2 2 2 2
1 . 1 . -1 -1
Condl =| Cos(a) ="~ |, Cond2 =| Sin(f) =" Condl =| Sin(at) = |, Cond2 =| Cos()=""
No3 = 6 A1 Nod= 4 2
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
.3=Tan(pB) 4=Sin(a+ ) 3 =Tan(P) 4 =Sin(a - B)
S=Cos(p—a) .6=Tan(a—B) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Cos(2 o) 8=Tan(2B) ] L .7=Cos(2B) 8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(32°) = 0.848), Question = Cos(16°)], ,| U
T
M
No6 = [ Cond = (Cos(70°) = 0.342), Question = Sin(35°)], ,| U
T
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2
l=—" "5 .2=1-28Sin(15%)

_ ) ;
= Sin(—J .2=Cos(75%)

12
.3 =Tan(105°)

4=Cos((-255)°)

b T
3=2 Sin(—) Cos(—J
8 8

Tan(72°) — Tan(12°)

Nol < (in L No2= * 1+ Tan(72°) Tan(12°) .
.5 = Sin| 1 .6 =Csc((-195)") . 2 7 . 7 .
.5:2C0s(—j -1 ,6=COS[_J Cos(—J—Sin[—J Sin(—j
137 o 12 36 18 36 18
.7=Tan( 12 J .8=Cot((-165)") 19 1 . 19 1 .
B B 7= Cos( j Cos[—j + Sin(—j Sin(—j .8 =Sin(5°) Cos(25°) + Cos(5°) Sin(25°)
60 15 60 15
Fommer sl eld )] | D
.9=_Co0s(22.5") —Sin(22.5") .10 =Sin| — | Cos| — |- Cos| — | Sin| —
L 18 9 18 9/
[ [ T 3n} i [ [ 3w b } ] _ _
A=0,B=—C=n,D="—" A=—B=2mnC=—D=n
2 2 2 2
o ={ser=) cone=(comr=3]]| o= [smar= ) conse = cospr =5
Condl =| Sin(a) =~ |, Cond2 =| Cos(B) =" Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = > S/ Nod = 8 4
.1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(P) 4=Sin(f-a)
S5=Cos(aa—PB) .6=Tan(a+ ) S5=Cos(aa—B) .6=Tan(a+ )
L .7=Sin(2 a) 8=Tan(2B) ] L .7=Cos(2 ) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(68°) = 0.375), Question = Cos(34°)], ,| U
T
M
No6 = [ Cond = (Cos(44°) = 0.719), Question = Sin(22°)], ,| U
T
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Tan[ J—Tan(—j P
1 50 18 2=1-28i (15")2 "
A= .2=1-2Sin
117 b S
1 + Tan| Tan| — S
- . 36 18 LLS 1
1=Cos(75°) 2= Sin(—] (n n 2 Tan(22.5%) &
12 .3=2Sln§ Cosg A= M
R Tn 1 — Tan(22.5%) a
| .3=Tan(105") .4=Tan ——~ B ) 2 ;
Nol = 12 /|, Noz = 5=Cos(22.5°) — Sin(22.5°) .6=Sin(72°) Cos(12°) ~ Cos(72°) Sin(12°) p - ~| || |
Sn
.5 =Cos(255°) .6:Sin(——] Tanl = | 4 Tan| 27 @
12 5w b (Sm) (= 15 60 M
.7 =Cot((-285)°) .8=Sec((-15)%)] .7=Cos 18 Cos 18 — Sin 18 Sin 18 8= N N U
1 — Tan| —] Tan
15 60 LL 7]
" ) )
.9=Cos(50°) Cos(20°) + Sin(50°) Sin(20°) .10:2COS(EJ -1 _(
' ‘ )
L
b1 3w 3w b
A=0,B=—C=n,D=—" A=—B=2mnC=—D=n
2 2 2 2
4 . -4 3 . 1
Condl =| Cos(at) =T |, Cond2 =| Sin(B)=—" Condl =| Cos(at) =T |, Cond2 =| Sin(B) ="
No3 = 7 5 ., Nod = 7 4
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) .4 =Sin(a + )
S=Cos(au+p) .6=Tan(a—P) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Sin(2 o) .8=Tan(2 B) ] L .7=Cos(2 o) 8=Tan(2 B) J
M
No5 = [ Cond = (Cos(58°) = 0.530), Question = Sin(29°)], ,| U
T
M
No6 =[ Cond = (Cos(28°) = 0.883), Question = Cos(14°)], ,| U
T
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.1 =8in(80°) Cos(10°) + Cos(80°) Sin(10°) 2=2 Sin(—j Cos[—j v
12 12 S
(2= b 2n) [ m o o ) o o o S
r . .3=Sin| — | Cos| = |—Cos| — | Sin| == | .4=Cos(102") Cos(12”) + Sin(102") Sin(12") i
Sm o 5 15 5 15 &
.1 =Cos .2=Sin(15%) R
12 (5 nj [n) M
o o o o Tan| —— |- Tan| —
.3=Tan(105%)  .4=Cot((-75)") 5 Tan(12°) + Tan(48°) 18 9 a
Nol = 177 | No2 = o 0 0 - A t
? .5=Sec(—TJ 6=Tan((-345)°)[ I = Tan(12°) Tan(48") | +Tan(_J Tan(i] i
18 9
7=C [19RJ 8 = Csc(195° 2 2 TCZ “
LT 12 8= Cse(1957) | 7= Cos(22.5°) — Sin(22.5%) .8:2Cos(§] -1 1‘;
2 Tan(22.5°) . 02 LL 7 1]
Y= 10=1-2Sin(15%) N
L 1 — Tan(22.5°) ] -
o
2
L
[ b 3n } [ 3n b }
A=0,B=—,C=—D=21 A=n,B=—,C=—D=n1n
2 2 2 2
2 . -2 -1 . 1
Condl =| Cos(a) =~ |, Cond2 =| Sin(B) =" Condl =| Cos(at) =71, Cond2 =| Sin(B) ="
No3 = 3 S/ Nod = 3 2
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) 4=Sin(f-a)
S=Cos(aa+fB) .6=Tan(aa—f) S5=Cos(aa—B) .6=Tan(a+f)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Cos(2 a) .8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(68°) = 0.375), Question = Cos(34°)], ,| U
T
M
No6 = [ Cond = (Cos(8°) =0.990), Question = Sin(4°)], ,| U
T
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is)oolis) ool JeolS) eSS ||
.1 =2 Sin Cos| .2=Cos Cos — Sin| Sin
12 12 36 9 36 9 S
| 5u) ] 3=1-28in(15%) 4= Sit| o | cog| = | = Cod 2 | sinf = LS
1 =Cos(15°) ,Z:Sin(zj 3=1-28in(157) 4 =Sin| = | Cos| | = Cos| — = | Sin| &
7n T [Lﬂ) T (LJ [ M]]
.S:Tan[zj .4:C0t((-255)0) 2Tan(22.5°) an 5 — lan 15 a
Nol = , No2 = '5:—02 6= T T X , t
.5:@{—1] .6=Sec((-105)°) I'=Tan(22.57) 1+Tan[—)Tan(—J h
12 15 @
2
3 13n ° T M
-7=Sm[—TJ -8 =Tan((-75)") .7=2COS[§) -1 .8 =Cos(42°) Cos(12°) + Sin(42°) Sin(12°) U
Tan(20°) + Tan(40°) o2 o2 LL 7T 1]
9= N . .10 =Cos(22.5°) —Sin(22.5%) 2
L 1 — Tan(20") Tan(40") ] _(
b
L
[ [ b1 375} ] [ [ 3w b } i
A=0,B=—C=n,D="— A=—B=2mnC=—D=n
2 2 2 2
[comar={sncer=Z) comz (o] | [ comar={costar=3 ) contz=[ s ]
Condl =| Sin(a.) =~ |, Cond2 =| Cos(B)=—" Condl =| Cos(at) =7 |, Cond2 =| Sin(B) ="
No3 = 5 40 Noa= 2 5
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(PB)
3 =Tan(P) 4 =Sin(a+ B) 3 =Tan(P) 4=Sin(B-a)
S=Cos(aa—P) .6=Tan(f—-0a) S5=Cos(aa+B) .6=Tan(a— )
L .7=Cos(2B) S=Tan(2 o) ] L .7=Sin(2 a) 8=Tan(2 B) ]
M
No5 =[Cond = (Cos(6°) = 0.995), Question = Cos(3°)], ,| U
T
M
No6 = [ Cond = (Cos(50°) = 0.643), Question = Sin(25°)], ,| U
T
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TrigonometryExercise4 for No.645130

I e n 2 Tan(15°)
.I:ZSmE COSE =3
1 — Tan(15°)
b Tn
- - Tan[—j + Tan(—J
Tn . o o o o 18 36
.1 =Cos(75%) 2=Sin E .3=Sin(12") Cos(18") + Cos(12°) Sin(18”) 4= 7
T I
1- Tan[—j Tan[—J
b 117 18 36
.3=Tan| — .4 =Csc 2 2
- s | |s=ool 5 ool sl el 55 amend ) sl
5:C0t((-345)0) .6:Si1’1((-75)0) .5=Cos 36 Cos 36 — Sin 36 Sin| 36 .6 =Cos ] — Sin 3
n o T T
7=Tan| ———| .8=Cos((-255)") Tan| — | = Tan| —
L 12 ] 2 3 12
.7=2Co0s(22.5°) -1 8=
b b
1+ Tan(—) Tan(—)
3 12
2
L .9=Cos(70°) Cos(10°) + Sin(70°) Sin( 10°) 10=1-2Sin(15%)
I [ b1 T } i I [ 3w 3w }
A=0,B=—",C=",D=n A=n,B=—"",C=—",D=2n
2 2 2 2
1 . 5 . -5 2
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) == Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="~
No3 = 2 T3 No4= 6 5
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
.3=Tan(B) 4=Sin(f-a) 3=Tan(a) 4 =Sin(a - )
S=Cos(aa+B) .6=Tan(a—f) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Sin(2 a) 8=Tan(2B) ] L .7=Sin(2 o) .§=Tan(2 B)
M
No5 = [ Cond = (Cos(14°) = 0.970), Question = Sin(7°)], ,| U
T
M
No6 =[ Cond = (Cos(66°) = 0.407), Question = Cos(33°)], ,| U
T
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